

## GOVERNMENT OF TELANGANA STATE DISTRICT GAZETTE EXTRAORDINARY PUBLISHED BY AUTHORITY

G.No. 04/2023 Date :04 -08-2023

## Notification by the District Proh. Excise Officer, Nirmal District.

Read:	Telangana Excise (Grant of license of selling by shop and conditions of license) Rules, 2012 (GO MS No. 391 Revenue (Ex.II) Department dt: 18.6.2012) Notice of drawal of lots for Grant of licence to sell IMFL & FL by Shop under Rule 5 of TelanganaExcise (Grant of license of selling by shop and conditions of license) Rules, 2012. Read with GOMs No. 86 dated: Revenue (Excise –II) Department dated: 01-08-2023.
-------	--

Whereas, the right of selling by shop is to be granted for the licence period from 01-12-2023 to 30-11.2025 and whereas the Director of Prohibition & Excise Telangana fixed the number of (47) A4 shops to be licensed in the areas/localities.

I, G. Srinivas Reddy, District Prohibition & Excise Officer Nirmal District/Unit, in exercise of the powers vested in me under Rule 5 and 24 of Telangana Excise (Grant of license of selling by shop and conditions of license) Rules, 2012, issue the following notification for information of general public and intending applicants who may file their application for consideration for grant of licence for the licence period mentioned above on or before 6:00 PM of 18-08-2023.

	Address for receipt of applications		
Shops situated in Nirmal District	O/o.DistrictProh.& Excise Office, Nirmal, Integrated Dist Offices Complex, (IDOC) Nirmal & O/o. the Commissioner of Proh.& Excise, Nampally, Hyderabad T.S.		

The right to sell IMFL & FL by A4 shop, as specified in the list appended to this notification for the license period from 01-12-2023 to 30-11-2025 shall be granted upon selection through drawl of lots.

The drawl of lots will be conducted at 11.00 AM on21-08-2023 at Integrated District Offices Complex, Nirmal.

The Retail Shop Excise Tax for shops in different population slabs and the terms and conditions governing the drawl of lots has been notified in GOMs No. 86, Rev (Ex-II) Dept Dated: 01-08-2023. A copy of which is appended herewith. Detailed guidelines is also enclosed vide Cr. No. 3060/2023/CPE/TS/F1, dt: 02-08-2023.

Place: Nirmal Date: 04-08-2023.

District Proh.& Excise Officer Nirmal

## GAZETTE PROFORMA.

		0,,	ITE PROFORMA			
Gaz S.No	Name of the village/villages and Mandal / Smaller Urban area /Municipality /Municipal Corporation	Ward/ Village	Area / locality	Annual Retail Shop Excise Tax (Rs in lakhs)	Retail Shop Excise Tax for 2 years i.e., for 2023-2025 (Rs. in Lakhs)	Shop allotted for Goud/S C/ST/Op en for all.
1	2	3	4	5	6	7
		Prohibition	& Excise Station: Ni	rmal		
NIR001	Nirmal Municipality	1, 2, 22, 24, 35, 36	Shop No. 1 Bail Bazar, Gandhi chowk & other	60.00	120.00	Open for all
NIR002	Nirmal Municipality	1, 2, 22, 24, 35, 36	Shop No. 2 Bail Bazar, Gandhi chowk & other	60.00	120.00	Open for all
NIR003	Nirmal Municipality	9, 31, 32	Shop No. 1 Chain Gate, Bhoiwada, & other	60.00	120.00	Open for all
NIR004	Nirmal Municipality	9, 31, 32	Shop No. 2 Chain Gate, Bhoiwada & other	60.00	120.00	Open for all
NIR005	Nirmal Municipality	14, 15, 16, 33	Shop No. 1 Shivaji Chowk, Eidgaon, & other	60.00	120.00	Open for all
NIR006	Nirmal Municipality	14, 15, 16, 33	Shop No. 2 Shivaji Chowk, Eidgaon, & other	60.00	120.00	Open for all
NIR007	Nirmal Municipality	28, 29,30, 34, 40, 41, 42,	Shop No.1 Old bus stand, New bus stand & other	60.00	120.00	Open for all
NIR008	Nirmal Municipality	28, 29,30, 34, 40, 41, 42,	Shop No.2 Old bus stand, New bus stand & other	60.00	120.00	sc
NIR009	Nirmal Municipality	9, 31, 32.	Shop No. 3 Chain Gate, Bhoiwada & other	60.00	120.00	SC
NIR010	Nirmal Municipality	10, 11, 13	Shastri Nagar, Stanti Nagar & others	60.00	120.00	Open for all
NIR011	Nirmal Municipality	18 & 19	Manjulapur & Manjulapur SC colony	60.00	120.00	Open for all
NIR012	Khanapur Municipality	Khanapur Municipality	Whole Municipality area.	55.00	110.00	Open for all
NIR013	Khanapur Municipality	Khanapur Municipality	Whole Municipality area.	55.00	110.00	Open for all
NIR014	Khanapur Municipality	Khanapur Municipality	Whole Municipality area.	55.00	110.00	Open for all

						Open for
NIR015	Laxmanchanda Mandal	Laxmanchan da	Shop No. 1 Laxmanchanda Village	55.00	110.00	all
NIR016	Laxmanchanda Mandal	Laxmanchan da	Shop No. 2 Laxmanchanda Village	55.00	110.00	Goud
NIR017	Mamda Mandal	Ponkal	Ponkal Village	55.00	110.00	Goud
NIR018	Mamda Mandal	Mamda	Mamda Village	50.00	100.00	SC
NIR019	Soan Mandal	Soan	Soan Village	50.00	100.00	Open for all
NIR020	Sarangapur Mandal	Sarangapur	Shop No.1 Sarangapur Village	50.00	100.00	Open for all
NIR021	Sarangapur Mandal	Sarangapur	Shop No.2 Sarangapur Village	50.00	100.00	Open for all
NIR022	Sarangapur Mandal	Beravelli	Beravelli Village	50.00	100.00	Open for all
NIR023	Kuntala Mandal	Kuntala	Kuntala Village	50.00	100.00	SC
NIR024	Kuntala Village	Kallur	Kallur Village	50.00	100.00	Open for all
NIR025	Laxmanchanda Mandal	Kankapur	Kankapur Village	50.00	100.00	Open for all
NIR026	Pembi Mandal	Pembi	Pembi Village	50.00	100.00	Open for all
NIR027	Kadam Mandal	Kaddam	Shop No. 1 Kaddam Village	50.00	100.00	Open for all
NIR028	Kadam Mandal	Kaddam	Shop No. 2 Kaddam Village	50.00	100.00	Open for all
NIR029	Dasturabad Mandal	Dasturabad	Dasturabad Village	50.00	100.00	sc
		Proh.&	Excise Station: Bhains	a		
NIR030	Bhainsa Municipality	9,10, 19, 22	Shop No. 1 Vinayak Nagar, Sanjay Gandhi Market area , Ambedkar Nagar & others	60.00	120.00	Open for all
NIR031	Bhainsa Municipality	9, 10, 19, 22	Shop No. 2 Vinayak Nagar, Sanjay Gandhi Market area, Ambedkar Nagar & others	60.00	120.00	Open for all
NIR032	Bhainsa Municipality	4,6,7, 8, 17	Shop No. 1 Nirmal Road, Shivaji Nagar, Pipri colony, & others	60.00	120.00	Open for all
NIR033	Bhainsa Municipality	4,6,7, 8, 17	Shop No. 2 Nirmal Road, Shivaji Nagar, Pipri colony, & Others	60.00	120.00	Open for all

NIR034	Bhainsa Municipality	9, 10, 19, 22	Shop No. 3 Vinayak Nagar, Sanjay Gandhi Market area, Ambedkar Nagar & others	60.00	120.00	Open for all
NIR035	Mudhole Mandal	Mudhole	Shop No.1 Mudhole Village	55.00	110.00	ST
NIR036	Mudhole Mandal	Mudhole	Shop No.2 Mudhole Village	55.00	110.00	Open for all
NIR037	Basar Mandal	Basar	Basar Village	55.00	110.00	Open for all
NIR038	Kubeer Mandal	Kubeer	Shop No. 1 Kubeer Village	55.00	110.00	Open for all
NIR039	Kubeer Mandal	Kubeer	Shop No. 2 Kubeer Village	55.00	110.00	Open for all
NIR040	Narsapur-G Mandal	Narsapur-G	Shop No. 1 Narsapur Village	55.00	110.00	Open for all
NIR041	Narsapur –G Mandal	Gollamada Village	Gollamada Village	55.00	110.00	Open for all
NIR042	Dilawarpur Mandal	Dilawarpur	Dilawarpur Village	55.00	110.00	Open for all
NIR043	Sirgapur, Village, Dilawarpur Mdl	Sirgapur	Sirgapur Village	50.00	100.00	Open for all
NIR044	Lohesra Mandal	Lohesra	Shop No. 1 Lohesra Village	50.00	100.00	Goud
NIR045	Lohesra Mandal	Lohesra	Shop No. 2 Lohesra Village	50.00	100.00	Open for all
NIR046	Lohesra Mandal	Lohesra	Shop No. 3 Lohesra Village	50.00	100.00	Open for all
NIR <mark>04</mark> 7	Tanoor Mandal	Tanoor	Tanoor Village	50.00	100.00	Open for all

District Proh. & Excise Officer
Nirmal

Deputy Commissioner of Proh. & Excise, Adilabad.

Director of Proh.& Excise, Govt of Telangana, Hyderabad.

